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MatqﬁfList _ | with List — Il and select the correct answer with the help of the code
giverbelow :
fist — | (Author) List — Il (Work)
a. érman Gundert i. Ribla
b. Zainuddin Makhdoom ii. ltinerario
¢. Ludovico di Varthema iii. Kerala Pazhama
d. lbn Battuta iv. Tuhfat ul-Mujahideen
Code :
a b c d
A) i i i iv
B) iv il ii i
Cy . W i i
Dy Gl iv i
Consider the following Social Reformers :

i. Sree Narayana Guru
ii. Dr. Palpu

iii. Kumaran Asan
iv. T. K. Madhavan

Who of the above was/were actively associated with SNDP Yogam ?
A) Onlyiandii - B) Only i
C) Only i and iii D) All of the above (i, ii, iii and iv)

Usha Mehta was related to

A) Operated Secret Radio during Quit India Movement
B) A leader of Underground Movement

C) Joined Azad Hind Fauj

D) Led Salt Satyagraha at Dharsana

Match List — | with List — Il and select the correct answer with the help of the code
given below :

List — | (Social Reformers) List — Il (Their Association)

a. Jyothi Rao Phule i. Veera Saiva Movement -
b. Viresalingam Pantalu ii. Satya Shodhak Samaj
c. Basava ii. Seva Sadan
d. G.K. Devdhar and iv. Raj Mahendri Social

Mrs. Ramabai Ranade Reform Assgciation
Code :

a b c d

A) i v i i
B)F Ry ii iii
C) v i i iii
D) i v i i
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. List—1 em List — Il 200 ¢210)0018] 6218668 ®06® M@LIRIALOIM GB0UlONR
MaNOWBEEMIOS NElIRWOR HEMRO GIVOEITINSIEE Jb:.

List - | (eau@imoni) List — Il (e21m)
a. ©0dnm nyensds i. Oleniel
b. aoeimydlm asswyo ii. @omoaliaimemo
C. eneaoallessos! Ademma iii. @208 alem
d. snenitny entomymm IV. ®3a00mm@ my20adidld
Code :

Ay c d
A) i i i iv
B) iv i i i
C) iii v i 4
B)an:nt . i iv i

. ®IOY alOWIM MIBGOY alBleydOMOLOOE alBINEMIB6))H:.
i. @l MomOWeEM M)

ii. Dr. auaday

iii. @MU

V. Sl &, @owaIm
2i&gldd alosmmaldiad @oosm SNDP ewomnaiymoe sniaweq sidleniame ?
A) i 9o ii o mo@o B) i momo

C) i'go iii o mo@o X D) myeglenss aggjoo (i, ii, iii and iv)
. ©aH0 COAMWIMOI IMWeeSIAlee M@
A) #llg enamy (almoomEsled Mawes caomy soulewo (alud@vlaflaly
B) @10d@ (umnomemlen emmoai
C) @omoa adls’ anvedl@d eaidmny
D) wdmomela af mm owaeoemim emmymio ;]

- List=Tem List - Il 200 e21040018] 6210666 @069 M@HIBBOYM cB0UloR
MaOOWEOMOONS NAIROW HBEBMO BIEETINSIHE 1.

- List — | (mom3a0) a1@laydomosndd) List — Il (@pcue)es moceism)
a. el 000} anyeel . I. aflo cvoiald (altmuoomo
b. alleamelowo aidmyel ii. V@Y BaHOWEs MVDOLE
C. enumu iii. savaIo MM
d. gl.os. eaaiwoye Mrs. eosniow coomew V. 002 acao(El 6Moauy®@ Sleando
@REMIMICWaHmD
Code :
a b c d
A) Qi v i i
Bl =i ii i
G)l.iv i i iii
D) i v i iii
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5. Which of the following is/are related to American War of Independence ?
i. Divine Right Theory of Kingship
ii. Boston Protests
iii. Intolerable Acts
Select the correct answer using the code given below.

A) iandii only B) iii only C) ii and iii only D) i, ii and iii
6. The present Managing Director of International Monetary Fund (IMF)
A) Kristalina Georgieva B) Camille Guitt
C) Antonio Guterres D) Dr. Tedros Adhanom Ghebreyesus

7. The volcanic pipe filled with breccia is exposed after prolonged erosion above the
ground surface is called

A) Barrancas B) Volcanic Butte C) Diatreme D) Tors

8. Consider the following statements regarding igneous rocks :

i. The rocks in terms of chemical and mineralogical characteristics texture of grains,
forms and size of grains.

ii. The sediments and debris derived through the disintegration and decomposition of
rocks.

iii. Rocks are include andesite, basalt, obsidian, pumice, rhyolite, scoria and tuff.
iv. They also possess mud-cracks and marks of ripples or waves.

A) ionly B) i, ii only C) i, iii only D) i, ii, iii only
9. Match the following List — | and List — Il :
List -1 List—1I
1. Pedi Plain i. Lawson
2. Pene Plain ii. Crickmay
3. Pan Plain iii. L. C. King
4. Pan Fan iv. W. M. Davis
Code : i
15012 3 4
A) i v i i
B) iii v i i !
G I i i i
D) ii i iv il
10. Allahabad-Haldia stretch of the Ganga-Bhagirathi-Hoogly is
A) National Waterway 3 "~ B) National Waterway 2
C) National Waterway 4 D) National Waterway 1

A -4-
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S. 6% o@IMAIRI@ ag®oem @IEAdlen MM YMARAMOV MIMWeQSIAlBa M@ ?
i. eoRmIEDlOR eacale: @G0 milavdano ’
ii. @ensoguem (aIoleauwens@d
iii. @@mMaorflonow eI
@269 HB0SIEIEIHOIM EB0W DaleOUSlof DAWOD HEMEO BEOETSIEe k.

A) i 80 ii 9o @o@o B) iii momo C) ii goiii 9o mo@o D) i &o i 9o iii ©o
6. @dmoauemad emoemigal anendl(IMF)edf seajoveamm mosmedlows WQOHD.

A) @lguellm eodedal B) =o0allgfl g’

C) mneqosmlewo wyegomy D) Dr. essiawom’ @ewemoo ¢leenieqm’

7. eEnmie dlog) @eTlald® el @alwies paidlmeimmim’ 2ydellees dldealssoel
oeqpoellaflo’ 6tatto @IOMB0560 siaM@lem ag)om’ Afigleniomy.
A) enuossom B) @oudlaidqiem enig C) avweiso D) esodmy’

8. @oUTlulames MmosminWlal ®oeY alO@IM (IRIIME:RD al@16mIB6) s
. ‘©BNMIBRIOS CRISM, 04aletBM, HONMIBEINS Qleljalo ag)MIIWIOS EIMWOm
M@ MANlEUaH®E:0 O8] ald0.

ii. a100&g)es wdelle:cemomieeswioe alleaismetienswio ooEIdamD
@OOUUBlaHETBID

iii. - @@MWeSME, MIMORS, |Wepflasl@m, o Raln’ ee0swoneely, 6moclw, sad agamial
OROQSIMN@OEM alOOBR.

V. @oalg) ealgl-allggessio @RIE:a1HSew G ODORIGRINHSEWI BOSWORETBSL0 HENE.

A) i ao@o B) i, ii aow@o C) ii, iii mo@o D) i, ii, iii @o@o
9. List—1em List — Il 200 @210i0015] 621306 )8.
List -1 List -1l
1., galafl ogjilad i. ®e1omed
2. &alem egjoilad ii. (®lesen
3. alod exgjeflad ji. L.C. sled
4. atom anom iv. W. M. ewalomy
Code :
1 2 3 4
Ay R i
B) i iv i i
C) iv i i i :
D) i i iv i
10. wonwies @relaneIoE-a00mdl® couflowdl-anyydl @wo @oem
A) e gelalom 3 B) eauflw &eialom 2
C) seullw gelntom 4 - D) eerdlw Relaiom 1
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11. Pineapple Research Center is located at

A) Chengannur B) Aanakkayam C) Chalakkudy D) Vellanikkara
12. Which is the most polluted city in South India as per the Green Peace India’s Study

Report ?

A) Puducherry B) Vijayawada C) Visakhapatnam D) Hyderabad

13. Which one of the following is an exempted income as per the Income Tax ?
A) Income from House property
B) Income earned through agricultural means
C) Interest from fixed deposit
D) Income earned through winning from lotteries

14. Match the following Schemes and the Purpose :

Scheme Purpose
I. Project Insight A. To reduce physical interaction between
tax payers and the Department
Il. Vivad Se Vishwas Scheme B. Dedicated e-mail ID for tax payers to
- register their grievances
Ill. Samadhan C. To settle outstanding disputes
IV. Faceless Assessment Scheme D. Anintegrated platform created to leverage
data received from various agencies
A) I-A II-D,II-B,IV-C B) I-D,II-C,II-B,IV-A
C)I-AII-C,I-D,IV-B D) I-D,II-C,llI-A,IV-B

15." One of the following programmes/initiatives was not introduced during the sixth five-year
plan. Which one is that ?

A) National Bank for Agriculture and Rural Development
B) Minimum Needs Programme

C) National Rural Employment Programme

D) Integrated Rural Development Programme

16. The following are some of the statements related to the New Economic Reforms of India:
I. Larger role for the private sector including foreign investment. |
Il. Shift to a more open economy with greater reliance upon market forces.

III.- Enhancing competition based upon more market orientation.

Which of the statement/s is/are correct‘?

A) Only | is correct B) Only Il is correct

C) | and Il are correct D) I, Il and lll are correct
A -6-
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£6a1moaflid EOIaHeM B (B0 Mudlei 6.21QIM@)
A) ealemBomyd B) momeswo C) aoelees] D) ecuggomleno

(Sl afloy’ e J@6S alom Glea |odg (ale:000 Bedleemmmiieel agraio @elmadw mweo
@6 ?
A) alyepd B) alzwalow C) allwosdaigemo D) eeanc@iemIdE

®26¢ al0@IMAIRAE aR®OM ABEOW (Hld)@l (ald000 BFNIIEHN]S QUOIMOIMo ?
A) a0 6laltog|dgle@ mlimyas aleimomo

B) ®:00ale: modwensslees 1dlesniom QIoi@omo

C) audlemlessiaieml@ mlimias alellve

D) eangdlegld alom’ emsia aloy@omo

®06¥9a |0 MSloisalo HEGU N0 B2ldjoals] ColBBHiH.

alo 9B8GWo
l. elIomeg sodesmg A. 0le)@le0E0lo Qldialio ®arle)ss
_ BV EHSOAIST IO @I

Il. afanae em allvom’ milo B. mleialeo@de:d @oainges aleoaileod oedlad

i £21QoM Made/lo s-oaia eagwl
. cvaowod - C. 25l ®de6mBRD @deeIM
IV. ayeio amoence® s alleiioyema  D. aflaflu egzdmieald mlom’ acla) avog
- alaon®l (JBROBMEQSIOMIMEIM M joHlo) BoY
A MocWOEI® gJogGando
A)I-All-D,I1-B,IV-C B) I-D,II-C,Il-B,IV-A
C)i k= All=C, lll- B, IV =B R =B, II=C,lll-A,IV-B

@020 aleRUAUIGIVO alALGIRIE ®6Pa|OWIM B} aldlalos]/MoroEmB® @oal®GlaflafiSlg).
@O® af@O6M ?

A) moasiem@d 61108 8anod @0(UIlWDBld @R OL0M HALQIRle IBEW

B) aldlmo adlawm’ @alomoo

C) moasem@ 030@ ag)oGgJoRennd ¢lalo@do

D) moswozdlm (odlem alle:mm al@lalos]
DD IWIOS alj@IQ MOMUMTIE: al@lagonamBaiaoi] sIMweals 2flel (IRIAINB:RB @Y
6)H0S LB,

l. alean leetialo 9ROQOS MIE00) CaeILIR Q1@ algs.

Il. aflaiemloosmle:es @ysi®@d @ouaIlenimm &Sy myom qauEnljoImaieelss
MOOY.

. &y5)m@d modeng 80ClweRarmd @oslaommoLslwias acreo AdaEUlaleanis:.
(IROUMEBLEN@ a@®OM (o] ?

A) | mo@o alwoem’ B) Il aomo vodlowosm’

C) | &0 Il 9o voalosm’ D) I, II, I agyomilcu codlaosny

7=
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17. As per the Statistics of 2021, the highest production of the crops and the respective
States are given below :
|. Sugarcane — Uttar Pradesh
Il. Cotton — Maharashtra
lll. Rice — Punjab
IV. Wheat — Uttar Pradesh
Which one of the pairs is wrongly matched ?

A) | only B) Il only C) Il only D) IV only

18. As per the Statistics of the GST Council, the following States rank 1, 2, 3, 4 and 5
in terms of GST Revenue Collection for November 2022.

A) Maharashtra, Gujarat, Karnataka, Uttar Pradesh, Tamil Nadu
B) Maharashtra, Tamil Nadu, Karnataka, Gujarat, Uttar Pradesh
C) Maharashtra, Gujarat, Karnataka, Tamil Nadu, Uttar Pradesh
D) Maharashtra, Karnataka, Gujarat, Tamil Nadu, Uttar Pradesh

19. Consider the following statements :
The Montague Chelmsford Act of 1919
1. Provided for “Dyafchy” in the provinces.
2. Introduced bicameralism at the National level.
3. Established Provincial Public Service Commission.
Which of the above statement/s is/are correct ?
A) 1 only B) 1tand2only C) 1and3only D) 2 and 3 only

20. The phrase “Union of States” in Article 1 of the Indian Constitution indicates :
1. The Indian federation is not the result of an agreement by the units.

2. In India, the States can secede from the Union.
Which of the above is/are correct ?

A) 1 only B) 2 only C) 1and 2 D) Neither 1 nor 2

21. With reference to the Citizenship Act, 1955, consider the following :

The modes of acquiring the citizenship of India are :
1. Birth

2. Descent
3. Registration

4. Naturalisation

Which of the above is/are correct ?

A) 1 and 2 only B) 1 and 4 only

C) 1,3 and 4 only D) 1,2,3and 4

A -8-
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17. 2021-ea cudlell AIESOHME B0 (@ 1d:000, RRAIL0 H:ISITD o_ﬂgce;cﬁ 9®alodlafloey

18.

19.

20.

21.

M@0 @M@ THoMAIMENBEI0 2130U6S M@LIQITEeI0M}.
l. ®alni’— oomdeleeud’
. a10y6® — a0y
1. @l — alermioeni
IV. swommi — oomdeIecud
e820Wlegldd a@®moem ORIV HaloEmeQ|S® ?
A) | @o@®o B) Il mo@o C) Il oo D) IV aoo

GSTensmmieflagaude] Alaiesnemeie:d (le:00o, 2022 malcsnidleel GSTaloymomevosiosm
@vfled @SIMNOMEBE @6 O MOMAIMEBUD 1, 2, 3, 4, 5 ag)al cunomensglelosm.

A) 2a0200Y, NIBROIEW), EOENISH:, HOBD(IGEUD, MAIYMIS’
B) 220000y, ®al¥mos, Hdeposdes, WIBOIOD), HODD(IGBUD
C) man0molal, NIEBOOED), HBEMNISH:, OAIYMIS, HEMD(IGRUY
D) 2200wy, &@%05&:, NIROOOD), ®AYMOS, HEODD(IGBUD

®O6Pa|OWIAM (AIROAUMSBUD @106 B6) Y Bs.
1919-62! HMO6MBOM} H2I0MVBaNOBW MlMmo.
1. (allooyegl@d ‘wodos) ®9owfl Made:leflcleniomy.
2. GRUWIw melomad raﬂm)@de;c% @oU®dlaflal).
3. (oo atepfles mdallmy’ somilasad quooalmmow.
DB IO ([ ITROAUMBEN@ a@@oem (@l ?
A) 1 mo@o B) 180 290 ao@o C) 1803 gcmo@o D) 26030 mo®o

DM BOEMARISMHVOS @BBSILEIRD 1-6al “@iemlw@ Bdad BERRIV ™ ag)im Aldald:o
fTDéQ_ﬂg:{]cﬁﬁ)&(TT)(ﬁ)u

1. 0wy He0WEOAUMD WINIQIBHBIONS HE0CIOM anLing).

2. 0@, MomNomemB@Hs @emlml@ mlom eaIdeq|SyEmoo.
2Bl @ aloemmUG oc@@oem vl ?

A) 1 mo@o B) 2 mogmo C) 190280 D) 1 90 2 50 @ng)

1955-6e! alvo®m| Mleaeom aledadudla], ®69e 0wIMAl al@lNemlens:.
EHOMIWIOS alDOMIo BMSYMEIMIES Bl@ile:td enaiosem.
1. &mmo
2. QUoalMI® 5
3. ozdle(paud
4. a1yl een06mo
&8 oMU ag@oem ol ?

A) 1 80 2 o mo@o B) 1 90 4 9o mo@o
C) 1, 3, 4 agyomilcu mo@o D) 1, 2, 3, 4 agyemiaul
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22,

23.

24,

25.

26.

Consider the statements regarding Amendment procedure of the Indian Constitution :
1. The State Legislatures can initiate a proposal for Amendment of the Constitution.

2. An Amendment which affects the federal structure must be ratified by half of the
State Legislatures by special majority.
Which of the above is/are correct ?

A) 1 only B) 2 only C) 1and 2 D) Neither 1 nor 2

Consider the following provisions under Fundamental Rights as enshrined in the
Indian Constitution :

1. Equality of opportunity in public employment.
2. Right to freedom of speech and expression.

3. Equality before the law.
Which of the above Fundamental Rights is/are available only to Indian citizens ?

A) 1 only B) 2 only C) 1 and 2 only D) 1,2and 3

The recent Amendment of Life Insurance Corporation (LIC) Act of 1956 in the
Parliament was done by way of

A) Appropriation Bill B) Finance Bill
C) Money Bill D) None of the above

-

Which among the following statements are not true with regard to the Kerala rnodel
of development ?

1. The Kerala model of development was initiated by the first Ministry of United
Kerala.

2. The wealth and resource redistribution programmes have largely brought about the
high material quality-of-life indicators.

3. High level of political participation and activism is a key element of Kerala model.
4. Quality of life indicators in Kerala are at par with developed nations.
A) 1and?2 B) 1,2and 4 C) 4 only D) 1 only

Given below are two statements marked (1) and (2). Find out which among the
optlons are true with regard to the statements.

. InKerala, there has been a large-scale withdrawal of workers from agrlculture over the
years, with the share of the workforce in agriculture and allied activities declining.

2. The contribution by construction and the services sectors to the economy are higher
in Kerala.

A) Statement 1 and 2 are true and 2 is the correct reason for 1

B) Statement 1 and 2 are true but 2 is not the correct reason for 1
C) Only statement 1 is true

D) Both statements are false

-10-
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22. MM BOEMORISMHWIOS CEBNE NSaIBRB®R Moenimusley (EIqROAIME:WD al@lnemlene:.
1. MoaNom MAMEERBES BEMALISMO EENTIBIas 1ildeguo @R OCElBHOLM MO,
2. ©anWOM *RISMOW IOWIENM 80} EEENEI MoadM Mlwameesdd aldr) @I o

(IB® B> BLBlalDHHEODOOS @00l L66mo.

2)B&l@ aloammURID® ap®oem vodl ?
A) 1 mo@o B) 2 moo C) 190290 D) 1 80 2 9o @0gy

23. spomyd @REMERISMIE @MYUIMILOYM 20elE:00B:0006MRRHE) B5IF1LIAS OO
QUIQUMOGRD alBlNENMIEe 0.
1. ealomy 6®o¥leld @alme qadio.
2. @E|aO® MP®OMETIMo @El 0o (ald:SlaflenimMaimimies @ale0uo.
3. dlwaesimy il amio.
B |06 22/8:00B:006mBId Q@I MM alVEMOBHS MO(®o BRI YDOBIM@) ?
A) 1 mo®o B) 2 mo®o C) 1902 p0omowo D) 1,2,3

24. aodeiead 1956-081 oeelal eMaxIOMM 68:0de 80D (LIC) rl@ao @os)@rmsles
eRRN®I 621Q®
A) allalewown enfl@d B) wmeon) enlldd
C) meml enfiad D) oyel@ aloemmal 80Myngy

25. @H08 0@ Olle:maliadti MmIMWeg]s @I69e]O®IM (AIROQUMEBEN@D a@@oem’
NOWROED® ?

1.
2.

3.
. 0pISEMO6M.

4

00[)8>)EHH0ROTOLl BYEYD(TTIMVEWOET GHO8 @2OWM QANlG:METIM ®ISEORIS®.
mmiemyo alleal almBalmesm aldlaloSle:gio @M engdldlad vnemmIaIon Vol
E0BRD HBH06NSIAUNTISIENE.

oA meiowlanss edHlw algoglomalie @o&lalovaljo 608 GaOWEIeN lwdom

eoaaowioal oo afleiaioe myaleemsd allemio OB YEIBRLE ®YlyMOEN.

A) 180290 B) 190280490 C) 4 @o@o D) 1 mo@®o

26. (1) 80 (2) o ESWOLERSIOTIW O6NE A IROUMBRD 213016S @R QA@EOZMNY. (IFROUM
£ MITWES oR® BOalaUMyeg0em (0@l Qg)0M’ BEIENBOT Y.

1.

2.

BHOSOT@, £0odadlle enelei@flo @MIERIMD (udemmensleio 6®mOFIINgle8ies
060 &306MTNE QAURLIMEMINSIRO, QB8ORS @:0daHle:enaieilcd oo 6moy]
pi0gle:68 el emoaid allidaielal) 6e-06MElElen0m].

qomidau ool afldamosm, GraIm EaaILe:?d @M MVOEOUM.BLOBOMI M

B SIRIOEM.

A) (igoaim 1 &2 nadlwoem, 1 @ tdlow &:dr6mo 2 @6’

B) qpoaim 1 &2 wal@oem; ag)moad 1 6 (AIOW &Moo 2 @og)
C) 1 agm (aIROQIM @O(@o LdAWIEM ‘

D) @6 (aIqRoQImME:8lo O®EIEM

11- '
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27. Which among the following e-governance initiatives in the State of Kerala ig related
to Local Self Government Department ?
1. E-Rekha
2. Sakarma
3. Akshaya
4. FRIENDS

A) 1and 2 B) 2and 3
C) 3and 4 D) All of the above

28. Which among the following statement is false with regard to the Kerala Bank ?
1. The Kerala Bank has the vision to become a Universal bank.

2. This is the second largest bank in Kerala in terms of business and number of
branches.

3. The bank aims to become the backbone of the rural financial sector.

4. The bank passes on the refinance assistance to small entrepreneurs.
A) 1and?2 B) 2and 3

C) 3and 4 % D) None of the above
29. Which among the following was not a provision of Kerala Agrarian Relations Act (1960) ?
1. Ceiling on land
2. Fixity of tenure
3. Compensation for acquisition
4. Freedom from eviction
A) 1 only B) 1 and 2 only C) 3only D) All are true

30. Which among the following department act as Nodal Agency for Pradhan Mantri
Krishi Sinchayee Yojana (Watershed Component) ?

A) Department of Agriculture B) Department of Revenue

C) Local Self Government D) Department of Finance
31. What is the context of implementation of ‘Subiksha Keralam’ Project ?

A) Floods 2018 B) Covid-19

C) FAO Directives D) Food Policy of India Government
32. Which among the following is an apt example of administrative adjudication ?

A) Accountant General of Kerala B) Advocate General

C) Kerala Administrative Tribunal D) Kerala Public Service Commission

A -12- "
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27. 808 MoMOOMANINL MIOLeOWIM -NEaIMB MooEEBEIT afymoem’ mEGU
(|WoEEEM Qldhiadmo® eITWee Slaleeyma ? :

1. v-coeu

2. e

3. @EneH®

4. FRIENDS

A) 1and 2 B) 2and 3

C) 8and 4 § D) 268 alosmmaewegoo

28. @508 eniosrlem mosniawle] M6y alowymmaiwlad R®OeM O®Q ?
1. 8ry Modau@e: eniomonl monomies B0¥21a]0S GH08 6nUI0ssIMYeNE.
2. enflovlnqilelo (oaISE6S ag)ep@Telle EHHaMBOl 06N20n6®® QLN 6nI0s:06emIw,
3. (wodlem MomIETie: caaIRIWIns MOSLOI MI0)E-WOET oSS Bl Jalsym@).
4. ©210)85)S MoVoEH:DHE e1I0%: SladlmoMay’ Mendowo 66)HMOOIMY,.
A) 1and 2 B) 2and 3
C) 3and 4 D) svaie@omymg

29. ©26¥ 6@05)EMAURIED 808 @ENCIRM dleelanadmy @oglond (1960) alynimowgoeme”
a@®o6m’ ?
1. cuolefesn eca@ems
2. $0e1001ules qudle®
3. a@ensieenalmies Madaldla0ono
4. #slowodlafleealad mlimias miomm e
A) 1 mo®o B) 19802 80m@o C) 3 momo D) oggjoo vo@lwosm’
30.  (a1woma(wil &yedl milemionl ewomm®es (BIREMS caise:0) EMoE a@Mdmilwow
(I UREDBEHLMD ®OOY alo@m A@® Qdhyaoem’ ?
A) &yoell Qudaf B) oaimy aisqf
C) megu mj@ocmem quadalmo D) wmeony alesiaf

31. ‘myEles 6080 al@LEl MSajoeeiMaiam aluadamelo ag)omoem’ ?

A) 2018-ee 6QIg86q [0806mBGD B) esoallaw’-19

C) FAO mdeguemd D) samyd walsdead@lon essymwo
32. ®o6¥ajo@mMAIRI@ a@®oem oemalonow allu] mldepawion 92l®maow §Ed0reMo.

A) ee08 @RV ZMOM B) @oaviesog 2mom

C) es08 @oavalmiemydlal  enyemad D) e®08 alegfles maaflny’ eaoflaudd
A -13- »
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33. Which among the following is not a project of Kerala Social Security Mission ?
1. Snehapoorvam
2. Thalolam
3. Vayomithram

4. Nirbhaya
A) 1 only B) 1and2only  C) 3only D) 4 only

34. Given below are two statements marked (1) and (2). Find out which among the
options are true with regard to the statements.

1. The participation of women in Panchayathi Raj institutions in Kerala is higher tha
the all India average.

2. The literacy rate of women in Kerala is higher than literacy rate of men in the
State.

A) Statement 1 and 2 are true and 2 is the correct reason for 1

B) Statement 1 and 2 are true but 2 is not the correct reason for 1

C) Only statement 1 is true

D) Both statements are false

35. In the case of disaster management in Kerala which among the following sequence

is suggested for action as per statutory requirement ?

A) Preparedness, Response, Recovery, Mitigation

B) Preparedness, Response, Mitigation, Rehabilitation

C) Prediction, Preparedness, Response, Mitigation

D) Prediction, Preparedness, Response, Rehabilitation

36. Which among the following is not a power of Kerala State Information Commission ?
A) Imposing penalties . B) Awarding compensation
C) Recommending disciplinary action D) None of the above

37. Diabetes insipidus is due to the lack of hormone
A) Glucagon B) Insulin C) ADH ., D) Thyroxine

38. Pernicious anemia occurs when the intestine cannot properly absorb
A) Iron B) Vitamin B12 C) Protein D) Minerals

39. Reservoir of KFD virus is
A) Pteropus B) Hard ticks C) Aedes D) Culex

A -14-
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33. ®969a 0WIMAIRIE a@®O6M eH08 MOntasls MOB00aHOR oAV RJOCTHE) ?
1. e8q@anaiz®qlo
2. ®osedelo
3. Quewoali®mo

4, dldcw
A) 1 mo@o B) 1802 90m0@o C) 3 mowo D) 4 mo@o

34. (1) 80 (2) 9o EESWOReEISIETI® V6NE (A IGROAUMEMD 2130160S N@HIRAGBOYM,. (IGROAIM
£81000] MITWOL|S aR® Boalanmyeaoem Kl ag)(y :EENSEDID:.
1. @SOS alemoRED ©02 e ImeaBelenl (Hle:a1es algoglomo @neleelam o
DOONDBIBRBOHINRD dEySIMEIOEM.
2. eH080ol (FlEH810S MISHOMO (L6 MoMAIMOED alj04eHROVIOS MIBHOD
lESSIBMHHOMD dB4Sy®EI0M.
A) (eiqocum 1 & 2 edlwoem, 1 o rdlwow &oreMo 2 @M
B) (qpocum 1 & 2 cdl@oem, agomodd 2 6 0l &:006mo 1 @ng)
C) iqocim 1 mo@o vodl@oem
D) @6ng (alqRoQime:glo HmEoeM
35. emoaowlen B3eMMMIAI0EMETIeM @00 O, MlIWAIMIMIBROW @D B (D
HOMMVIODOW] MSa ISIOHWSIEHOMD BOSYOWIM o@D (ESHAGNDT rdeguileneq gldlenyomy ?
A) ®Qoe0sial, lalale:eemo, Qfloenesyend, alealie:emo
B) ®©060sia]; lal@le06mo, RIRILE:06Mo, alymawlaidmo
C) (aiaimo, ®QOOOSIa]; [aITH06Mo, LIARIIE06MO
D) (aialaimo, ®Qoe0sia], lI@le:06mo, alymoulaiome

36. ©069a0@IMAIRIG aR®OEN EL08 MoMNoMm AflaIEB;00 £005la16 @UWIB000RJ0MBE ?
A) ally 21)0EDH@ B) madal@lano®o M@E:E
C) @r2JS#6 MSals] 1dialddwd 21930} D) 2®el@ al0smmal 80myag)

37. a@® GanOREROEMION @EO0Io myeImoem weeniglmy snmdmMilallawmy’ ©ens0dny M@ ?
A) QieeENe B) enadavyellad C) ADH D) eemaoogld

38. @yselm alwowl ag)am @pulleemo e.21gOM &¥lwon® QUEEMU0Po6M QAlMONBHEMOW
@pilal@ §ens0d@:3M@) ?

A) spoymi B) afigoaiicd B12  C) alaloglad D) almo@dm’
39. KFD esciomied dlaudeaowd
A) eseodalm B) a0odw Sleayeid C) spnasimy D) ®yeeis

A -15- '
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40.

41.

42.

43.

44.

45.

46.

According to WHO, Omicron is

A) Highly divergent variant with a high number of mutations
B) Low immune escape potential

C) Low transmissibility

D) Variant of Interest (VOI)

Which statement is not true about Aardram Mission ?

A) State Level Accreditation Programme for Health Care Organization
B) One of the 4 Missions under Navakerala Mission

C) Launched in February 2017

D) Primary focus is on SDG3. Good health and well-being

Which interventions significantly reduce the incidence and impact of stroke ?
i. Community intervention
ii. Life style modification
iii. Increased publig literacy in the FAST method.
A) Onlyiandii B) Only i and iii
C) Only ii and iii D) All the above (i, i, i)

The level of pollution to which the organism and the local community were exposed
is determined by

A) Biomagnification B) Biomonitoring

C) Bioassessment D) None of the above

Intranasal covid vaccine recipients demonstrated increased level of mucosal
antibody g

A) IgA B) IgD C) IgE D) IgM

Find the shortest wavelength present in the radiation from an x-ray machine whose
accelerating potential is 40 kV. '
[Assume that the work-function is much less than the acceleratlng potential.]

A) 0.025 nm B) 0.031 nm

C) 0.021 nm ¢ D) 0.041 nm

The unit of magnetic field strength (H) is
A) A/m B) A/m? C) Am?/Kg | D) Am?
-16-
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WHO @omymvdlai Omicron @06Mm.

A) 9@dmm @eanllenas myeSaUMIGRISN QUISOO QUMMM QR
B) #3060 (alalemowewoat]

C) @y06mm sondmilavienileld)

D) momoosomileng scudedg (VOI)

@@d(Eo dlatem MosnIMUle] a@® (aIROCIM®IOEN ARG ?

A) 0O OB BOBNOOHMEMVAUOP MOMOOM®E! @o(E-Wleqanm @alodo
B) maissesalaued Sl¥lenes 4 alaumisssldd s’

C) 2017 eanenizcucleiad maovoaly

D) (atownale: gyav SDG3 @mem. Mg @DE00 J0L0-EHHDJo

QRO SO ISLILHB06T BAROLHINND MoEAIMBE 0 BRI WEMIMOWS EOWIME ?
i. eomyenigl snsealsad
ii. Zlaleeswell aidlediesnnemo
iii. FAST dloleiad salomy mosuem cidadlaflajy
A) i o ii 9o mo@o n B) i &o iii ®o mo®o
C) i ®o iii ®o mo®o D) socue@gjoo (i, i, iii)
glaflogo 01086Ule: MO0 ®I0MMYE:050a]g aeldile:oemomie emon
idepeileneq|sime ?
A) lsmxswomoo*rﬂadleaeanmn‘b B) eniewo emoemigdlows’

C) eemalmiely mldemwo D) oegldd aloemmar smyag

EDM(SIMOMVED BB O MfledEDOLOHWD M ELHIMNM ERFemioulwies
@al aldadlaflajmowl #06mlaly

A) IgA B) IgD C) IgE D) IgM

40 kV @dl®eq]siomom mowim@iss 8ol af)g-e¢0 eaadlmld alimies alleloemensicd
A@ROUI0 B0 BRONORDRIJ0 EH6)6MBEINYH:. !
[ledud@mm - (@IUIBEmMo BIBIMOQSIEMIMM MVOW IBEWEHIWD QLULHD BJONOHEMATY
BHOY®IH.]

A) 0.025 nm B) 0.031 nm C) 0.021 nm D) 0.041 nm

B0 BBHH(® WoBles wemlg (H) @oem’
A) A/m B) A/m? C) Am?/Kg D) Am?
-17- i
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47. In photoelectron spectroscopy, the kinetic energy (K.E.) of photoelectrons is best
represented by which of the following expression ?

[Here B.E. is the binding energy of the core electrons, ¢ is the work function, and
hv is the energy of the incident x-ray photons.]

A) K.EE.=hv + B.E. B) KE.=hv-B.E. + ¢
C) KE.=hv-B.E.—¢ D) KE.=hv+B.E.—¢

48. The Royal Swedish Academy of Sciences awarded the Nobel Prize in Physics 2022 for
A) Quantum theory of optical coherence
B) Development of methods to cool and trap atoms with laser light
C) Discovery of the quantized Hall effect
D) Experiments with entangled photons

49. Which of the following is not a test for alkaloids ?
A) Mayer test B) Hager test
C) Wagner test D) Salkowski test

50. If the critical temperature of a van der Waal’s gas is 300 K, the critical pressure is
(Given that van der Waal’s constant, b = 0.02 dm®mol and Gas constant,
R = 0.08206 dm? atm K-'mol-")

A) 100 atm B) 50 atm C) 154 atm D) 110 atm

51. In the emission spectrum of Hydrogen, the series resulted from the transition of an
electron from fifth energy level to first energy level is seen in

' A) Ultraviolet region B) Visible region
C) Infrared region D) Far infrared region

52. Among the Nobel Prize winners of Chemistry in 2022, the person who receives the
Nobel prize for second time is

A) Barry Sharpless B) Morten Meldal
C) Anton Zeilinger D) Carolyn Bertozzi
53. Name of the unpublished work of S.K. Pottekkatt ,
A) Vallikadevi B) Prema Shiksha
C) North Avenue D) Nile Diary
54. Who was the Sanskrit scholar who discovered the plays of Bhasa ?
A) K. A. Nilakanta Sastri B) Jadunath Sarkar
C) S. Vaiyapuri Pillai D) T. Ganapati Sastri

A -18-
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BaNOBZOEDRIG(ELI6MD 6)03&@(90@@0@@1(0‘5 Ba00BSOEDRIG(EHIEMIEHELOS N EH0deR0 (K.E. )
®O6YQ|OWIMM aR® alBlale@ON®BILles@oeN (al@lailule:dlenima ?

[alles B.E. agma’ 600 gelsd;0emieaies eesnidaslon agmdglwosm, aides ¢
a0oUIaHMIEM, v ag)Mm® MoEAl ag)gs-80 Gan08506MIE:a16S §IdEMo].

A) K.EE.=hv + B.E. B) KE.=hv-B.E. + ¢

C) KE.=hv-B.E.—-¢ D) KE.=hv+B.E.— ¢

€00 mflalled’ @r0Eal 8oad M@Mmm’'2022-661 @DEG:00ROBTIMIES HMIOENIM
LEMOMo MA@
A) saigleed seoanomdmien @losnso milavoamo
B) memyafleaomias dallegies allemmalie eeind eeelg dalewoudla) @OREBOS (SOq]
0.21Q)d.
C) @0e6emsmial’ anomd gand:gleam eemeem@d
D) £:)s16061@ @an0@506MiB8)m0@168 aldloemensmd

®26)9 alOWIMAURI@ aR®O6M EO@LOELIOVIWHBHOIES aIBlBUOWM @OLOEB® ?
A) cod osqy B) a00nd esgy
C) cuound esgy D) momesoaini esgy

80} QIond eawd csoelen aome:emlef mldsmowe: Hoagoai’ 300 K aaesmssiad,
oildepowds: mdgo -

(auodd eawd atoelled qudieosso, b = 0.02 dm¥/mol, v yom’ es:0emdayad;

R = 0.08206 dm?® atm K-'mol-")

A) 100 atm B) 50 atm C) 154 atm D) 110 aim

©0a0WEOP ag)alatdd eYREWIM, EoeoaeED ovd@mleiad mlom eePe® oVde
m'!m@mm’leeioes)ggg EDRIG(ROMIOM alBlUBEDMEBDIOM a0LIDO®LENBIBIM B U6
BH06MOSIMND

A) @pdsoniealg enelel B) allavlenll®d caeiel
C) snMlanoeo ca6iel D) anod en@enoeoas’ eaeuel

2022-621 000®((OD OMOOENIED @SOS W60 MAEM® o HMICENIE MaROMo eI
QU yBmIo6m’

A) eniod auodajerimy 3 B) emodgm eadisd

C) @odem eameled D) #eooelad esnidegomil
2g)(V. 6. HAINORBHIZNOP @D(IBITI® B)BWIOS Bald

A) aigieoeaal B) elun wles -
C) smodmm @oaimyy D) eemad avwal

GOMONR MOSEHEMBUD dhensallsla) MoMI® altemulmd @oeo@ioymy ?
A) 6. ag). afleleemo vyl B) zeymowd’ mdeanod
C) agav. eeciwoaid alleg D) <l. memaiail wooip]
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55. Who is the author of Pluto Priyapetta Pluto ?
A) P. Balachandran B) D. Vinayachandran
C) M. Govindan D) P. K. Balakrishnan

56. Which institution has urged stock exchanges to set up Investor Risk Reduction
Access (IRRA) platform ?

A) Supreme Court  B) NITI Aayog C) SEBI D) RBI
57. In which Indian city the game of KhoKho originate ?
A) Pune B) Mumbai C) Raipur D) Mysore
58. Who invented sound effects in movies ?
A) Jack Foley B) Eric M. C. Tigerstedt
C) James Cagney D) Lee De Forest
59. Who started “Panthibhojanam” in Kerala ?
A) Vaikunda Swamikal B) Chattambi Swamikal
C) Sree Narayana Guru D) Thycaud Ayya
60. Which is the HTML tag used to create a hyperlink ?
A) <link> B) <a> C) <b> D) <meta>
61. Which of the following are used to store data permanently ?
i. RAM
ii. Hard Disk
iii. Cache Memory
iv. DVD
A) i, ii and iii B) ii and iii C) iiand iv D) i, iii and iv
62. Select the malicious software from those given below.
A) Device Driver B) Antivirus C) Firewall D) Keylogger
63. Match the following :
1. Oracle a. Image editor
2. Facebook b. Search engine
3. Gimp c. Mobile phone
4. Google d. Operating system
e. Social media -
f. RDBMS
A)1-d, 2—-e, 3-c, 4-f
B)1-f, 2-a, 3-d, 4-f
C)1-f, 2-e, 3—a, 4-Db
D)1-d, 2-¢, 3-f, 4-Db

A -20- "
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ad4e30 (flweq|s gJie30w6s 021Rlmoni @ ?
A) all. eruoelal3m B) aul. almwaimsd
C) agypo. emoalazm D) all. &®. enioeids jaiemad

soeaugud oy’ clawenm @’ (IRRA) gjogeante mnoallenond eguoss ag)@ealemly
68 Elaltlalle) MuNdaIMo agy®oem’ ?

A) avyaflo es0swi B) NITI epewows’ C) SEBI D) RBI
Q@® S0 D MUWEGBILI06M 860660 HWN@Ilo ERMCE 2@ ?

A) angem B) ajoeesn C) oo@ud D) eeamyd
lSlaseld o6’ Dandgld(d &ensiallsla® @ooem ?

A) 2006 ¢anosl B) ag)dles agyo. mil. eesmdequu’
C) ezwllom 007 D) el aufl ganoo@y

BHHORO@ ‘al(WEEOZM’ @DOoEl2® @DOIEM ?

A) ©6QUBLemO avjoaile:@d B) aismll avjoaile:@d

C) w3 morowem mymy D) eome00s @y

803 66a0q|dellss’ M jeylenom alswourlenym HTML tag egmoem’ ?
A) <link> B) <a> C) <b> D) <meta>

0OUR|®@OQI WOg MoEAIBEIMATIM ®OOPa]O@IMAIRIM aR®6M Oale@IUlenymM@ ?
i. RAM

ii. Hard Disk

iii. Cache Memory

iv. DVD

A) i, ii and iii B) ii and iii C) iiandiv D) ii, iii and iv
06 M@dL:lNBIBNHIM UMD MO’ H:31)(B-OMOW BAVOANFHURD BOEEINMS B 1B
A) awleeainy eewald B) ead@lesciony’ C) aowdaiod D) #Seeinmnd

@06 MA@l E6LMO B210i0alS] BoIDEE) jbs.

1. 8200#61@ a. menz agwlgd
2. GanaVENIRE) b. emdaf ag)erldd
3. glmi C. ©MIOONIM GanoeNd
4. nyAB d. edgjeodlowy migyo
e. @aVoay @ dlauflw :
f. RDBMS
A)1—-d, 2—-e, 3-c, 4-f
B)1-f, 2-a, 3-d, 4-f
C)1-f 2-e, 3-a 4-b
D)1-d, 2—c¢, 3—f, 4-b
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64.

65.

66.

67.

68.

. Protection Act, 2019 ?

Choose the Super Computer developed by Indian scientists.
A) PARAM B) SUMMIT C) MIRA D) SIERRA

Which of the following statement is/are correct about the POCSO Act, 2012 ?

The medical examination of a child in respect of whom any offence has been
committed under this Act shall be conducted

i. In accordance with Section 164A of the Code of Criminal Procedure, 1973.

ii. The medical examination shall be conducted in the presence of the parent of the
child or any other person in whom the child reposes trust or confidence.

iii. In the absence of parent or any other person in whom the child reposes trust or
confidence, the medical examination shall be conducted in the presence of a woman
nominated by the head of the medical institution.

A) Only i B) Onlyiandii
C) Only ii and iii D) All of the above (i, ii and iii)

Which among the following is not a function of the National Council for Transgender
Persons ?

A) To monitor and evaluate the impact of policies and programmes designed for achieving
equality and full participation of transgender persons

B) Issuing of certificate of identity, if a transgender person undergoes surgery to change
gender

C) To redress the grievances of transgender persons

D) All of the above

Which of the following is not a consumer right mentioned under the Consumer

A) Assured that consumer’s interests will receive due consideration at appropriate
fora

B) The right to seek redressal against restrictive trade practices

C) The right to be assured, wherever possible, access to a variety of goods, products
or services at lowest price

D) The right to consumer awareness

Which of the following statement regarding the Right to Information Act, 2005 is wrong ?
A) An applicant making request for information shall not be required to give any reason
for requesting the information
B) There shall be no obligation to give any citizen, information including intellectual
property
C) The term ‘information’ includes mformatlon relating to any private body which can
be accessed by a public authority under an existing law

D) None of the above
DL
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64. sy woReemd Allemiafla) Wiad BMIRSD GlEEETTHSIEe 6.
A) PARAM B) SUMMIT C) MIRA D) SIERRA

65. 2012-6e! 6ol MRaeE® 6:)Claf ®06Pe 0@ IM (IRIAIMEE® ag®osn vl 2
DD MQaale:000 o@OmEIRIL0 BRI Y0 0219 EISIINS ORI IBIBUOWM MSEM .
i. 1973-08 (@laln@ dlwaewlea HmEH® 164A (ald:000 MSas(@:no.

ii. @gloes eedllmoaladewo eigles allupmend peg aego®m®slao AlyeTlwes
MOMIW YOI ©ONIR JaIBlEUIWM MSEMEMo.

iii. 20moallmOsHBIOSEWO @EERBIM ®:igles alltionmend 988 nege®®EIee QGRS
@EQEI@, eausleedd modaimelod el moamldeguo Oa1gRM Boy (Rlwes
omMilw EmlEd HaWlEO@ aldlewrdwm ms@memo.

A) i mo®o B) i o ii 5o mo@o

C) i go iii ®o mo@o D) ay&glad asosmmaiewgioo (i, ii and iii)

66. (sonbminzMad lysmiledenowias eaullw evembmielo ademmagpEmo
®26¥a|0WIMAURIED aR@®oem’ ?

A) (SodMBRMWD QBB MamIALo MR alE:08lemallo BMSIOWS LMD
OZolB@a M 0216 MWEBBROSWIo BleIoNINIBRIOsW 0 mjouwlmoe midleslenimaimo
alleiloyemymaimyo

B) &0y (soddmingdawd alysnf elloneese mogimaimies n(gelwg) allewmowod,
@ldlo)dl@ mdgladleng made:yomy

C) sodming@and aliemle:ains aleomiled aldlaodlenymaila’

D) oie-gl@d alosmmalowg)oo

67. 9alecosmy Mondstemmlwao, 2019 (18000 alroadudlafldlenim oaleeosm,

@OQLBINDLJOODD RGO 2

A) 9alecsmoallon ®momaimBRes oo lmno® eaidle:ald @Baono® aldlmemm
BIEIH0IODT ©0 ]} M@ ;]

B) mloslo aigpaion cmicowas@esasion aldlatoce BMSOM ISR @OLBOUN0

C) avowmomymilsemmgjoo, allalwmes 2loeneglerieend o@a|memslcricesno
EMQIMEBEIGRIBHH0 aRRUY0 BI06M eIl (IBAIME HOQOBHIMIER @OAILOWO

D) 9alecosm @AIGNIOWETIMNIER @RAIE:0000

68. 2005-68 flaurone:00 Man@0] eRIMELS MOELEOWINM (IqRIAIME-EH Q@O e ?

A) alloleasd @eeydmdleniom 6oy @oGalemam AlaioeasBd mm@éfﬁanﬁ]oes)&mmﬂm B0}
BH006MOUZ0 MWEEENBDIL

B) enrvalle: mjemalsomne 9ieq|es 60y alnemio allaiossd madesns 6NIOW yOg)

C) daaleyss aoy Hwacmtie Sl a0y ealomy @eemodges @M 621940 Bl
a@eO®esleljo aVIE:00) MOdaiMaI@O®)] micweq]s allaiEaBd eSo eM@andenauad
OWRDOHHBRIMY

D) 2i&ela alosmmal smymg
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060/23 - M

69. Which of the following statement is/are correct about the National Women’s
Commission Act, 1990 ?

i. Petitions having a civil nature such as violations of contractual rights or obligations
are not considered in the Commission. :

ii. The Commission shall fund litigation involving issues affecting a large body of
women.

iii. The Commission shall participate and advise on the planning process of
socio-economic development of women.

A) Only i and iii B) Onlyiand ii
C) Only ii and iii D) All of the above (i, ii and iii)

70. Which of the following is correct regarding the Kerala Lok Ayukta (Amendment)
Ordinance, 2022 ?

A) The Ordinance accords the competent authority, to accept or reject the decision of
the Lok Ayukta '

B) The Ordinance gives some extra power to Lok Ayukta in matters connected with
public servants

C) The Ordinance ensure accountability upon Lok Ayukta for its decisions

D) The Ordinance expand the power and authority of the Lok Ayukta in respect o
contempt of itself

71. In the given question if + means —, x means /, — means + and / means x then find
out the answer of the following question.
— 576 —46 + 30 — 52

A) 620 B) 610 C) 530 D) 644

72. The ratio of the 21¢ term to the 30" term of an A.P. is 3 : 4. Then the ratio of the sum
of the first 10 terms to the sum of the first 31 terms is

A) 115 : 682 B) 115: 131
C) 5:31 D) 23:22

73. A 125 meters long train is moving at 30 km/h. It will cross a lamp post on the platform in
A) 12 sec. B) 13.5 sec. C) 15 sec. D) 5.1 sec.

A 24-
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69. 1990-0e! eaudl® QMmO arflatd Mwaeom ©:laf moey alO@IMUEd agymosm’ vl ?

70.

71

72,

73.

I. #5008 EOAIBOEIBINSELID MIOWIBEBSIOSEW BlocaiMo Galorlag miallad mjeoain)es
aOBE DR S au @ aldlmnemlsesig).

ii. 8y el @lnaaoeom eoulenymm i 9BOQSIM QYOO VEBRDHE
B>00flaHD WMMAOOWo M@Bs0.
ii. o>aflastad (flex8205 MODIaTIB:-OMIEYHIE: allenmesilon @om@en (al@lwdeslad
lOBHSIHNLBW 0 HaIBRUTIENIB:W L0 H.21Q)l0.
A) i 8o iii 9o mo@o B) i o ii 90 mo@o
C) ii go i 9o momo D) ayegldd atosmmaie@e)oo (i, i and iii)
2022-661 608 BLI0B0WIHM (88RNOT) BodMUIMmMY mosnimuilaf ®o6¥a oMl
Q®o6M L@l ?

A) sene:0wemwes eloyaomo mle:dlencemo Mlemiencemo 988 sodaslmadmim’
BRIMN MR @OUIB000 M@BIM),.

B) eatomyelcidemeoymo] enimweq|s Allatengldd soduslmmdmy afler @owle: @owle:00o0
GRIOBOW I BMEP) M@0
C) cene:o0wismwiens aloyaomemsdes sodulmmdmy DOEMOUIEIEBO OO0}

D) sodailmdm’ eeiosowismwes @oUle:00030 @RE®IGIFIW 0 MVj@o @OAIEAOSBHIM
B00001@d llaiyelledlenyomy

@aIdlenIm E2108)@E@ + agmomd —, X agemo@ /, — agemodd +, / ag)omO@d X ag)om’
@OAMOMOHOIM]. a)Bl@ @O oM 8210B)OOM STMOO B6)6NSOTD) s,
— 576 — 46 + 30 — 52

A) 620 B) 610 C) 530 D) 644

A.P. @9s 21-00 aisemileo@ie 30-00 alBEBlORWIe @M l0mo 3 : 4 @BEM. @06 {OR
@a30em 10 alcaBgieswio @ay 31 alcaBainsw)o @VOBOMIBHWINS @OMaIO®o

A) 115:682 B)i115: 131

C) 5:31 D) 23:22 -

125 digd dlgees ey els@id aemleeydid 30 6. d. MERAGIHEINM}. @O® g JogEanodleel
803 AllgH3000 ag)eajodd B:SHe 0 ? ‘

A) 12 sec. B) 13.5 sec. C) 15 sec. D) 5.1 sec.
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74. Average mark of ten students of a class in certain subject is 45. However it is seen

75.

76.

A

78.

79

80.

that 4 of the 10 students also have an average mark of 45. What will be the average

mark of the remaining six students of the class ?

A) 30 B) 43 C) 50 D) 45

A shopkeeper sells a article at a profit of 10%. If he had bought it at 8% less and sold
it for Rs. 8 more, he would have gained 20% profit. The cost price of the article is

A) Rs. 200 B) Rs. 2,000 C) Rs. 1,000 D) Rs. 125

A train for New Delhi leaves every 50 minutes from a railway station. An enquiry
clerk told a man that the train had already left 20 minutes ago and the next train will

leave at 10 : 25 a.m. At what time was the information given to the man ?

A) 9:35a.m. B) 9:25a.m. C) 9:55a.m. D) 9:45 a.m.

Raju left home and walked 3 km towards South, then turned right and walked 2 km
and again turned right and walked 3 km. After this he turned left and walked 5 km.
How many kilometers will he have to walk to reach his home straight ?

A) 10 km B) 5km C) 6 km D) 7 km

Find the missing term.

4 3 2
8 9 36
16 [-27 [ 24
8 9 ik
A) 12 B) 8 G) 27 D) 24

. The next term of the following letter series will be :

CAW, HFT, MKQ, RPN,
A) UTY B) WUY C) WUK D) URJ

Find the odd number/letters/word from the given alternatives,
A) 6820 B) 7920 C) 3740 D) 4270
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dezlo aluwesld 60y gopleal alon alepdmdeaips woowd modes 45 @vem.
agoiloymoeiye 10 allepdmdlegd 4 caldes weowdl modes 45 @DOEMMN B:06MIMy.

&oqfloal cnadlenym @po’ alledmdle.gies WENE! MORBHE ag)®WOV@lHe 0 ?
A) 30 B) 43 C) 50 D) 45

a0} &:swsa 10% eneosd 8oy Mowmo lldenymy. aggs OEOMo d:0.2f QIoE ag)s
o0t B8 aligloyeanessiad 20% eioco &lgiaoieymy. ag@lad mowmamilen allel ag®?

A) Rs. 200 B) Rs. 2,000 C) Rs. 1,000 D) Rs. 125

mywdadiaicennes 8oy el 8oseo 50 ddigele ey eowiaent egueumiad aflor
al06g|SiM}. B0} @EEMjaHEM HEBVNMAM BOIEIS alOGT], el 20 almlg aymi

al306aisl, @syem eEi@ 10 : 25 a.m. o aly0egsio agm e MOQEBI6N @D
yeEiles allaloo M@ ?

A) 9:35a.m. B) 9:25a.m. C) 9:55a.m. D) 9:45a.m.

®om) ofigld aflmye e0eEl 6mEsesy 3 kKm msmmy. afloan aleleamog widlenm 2 km
msmy aflenso aueieEmos @dlett’ 3 km msany. s@ilmematio nseam«s aldlenm S km

msmmy. eme aflglealiemom ag)® Sleendlgd msensmo ?

A) 10 km B) 5km C) 6 km D) 7 km

Qf151BaI0® alBo BEENBEDIb:.

4 3 2

8 9 36

16 27 24

8 9 ?
A) 12 B) 8 C) 27 D) 24
O6PQOWINT BUBHO alOMIAWIONS @RSIEMalo aR® @RRIcleao ?
CAW, HFT, MKQ, RPN, .
A) UTY B) WUY C) WUK D) URJ

®06% 616:08)EAlBeMAURIE aflom’ BRIV Y/ BOBHMENBUD/ QLSS BHOENSADYS:.
A) 6820 B) 7920 C) 3740 D) 4270
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Provide a suitable question tag for the following statement :
They are coming to the party,
A) lIsn'tit? B) Won'tthey ? C) Aren’t they ? D) Will they ?

Correct the following sentence :

When | reached the station, the train already left.

A) As | reached the station, the train already left.

B) When | reached the station, the train left.

C) When | reached the station, the train was already leaving.
D) When | reached the station, the train had already left.

Change the following sentence into the comparative degree :
April is the hottest month of the year.

A) April is the hotter month of the year.

B) April is hotter than all other months of the year.

C) April is a very hot month, compared to the other months.
D) All other months are cooler than April.

Fill up with the correct preposition :

| prefer coffee tea. _

A) than Bl to C) above D) upon
Fill up with the correct tense of the verb given in bracket :

What would the girl do if she (miss) the train ?

A) missed B) misses C) miss D) would miss
Choose the correct synonym for the following word : '
Extravagant

A) Wealthy B) Frugal C) Lavish D) Thrifty -
Fill up with the correct phrasal verb :

The public meeting was because of bad weather. .

A) called in B) called off C) called out D) called away

Rewrite the sentence using a single word instead of the phrase in italics :
The teachers said the boy was incapable of being corrected, after he misbehaved
repeatedly.

A) Incorrigible B) Uncorrectable C) Disobedient D) Unbearable
Choose the correct option to fill in the blank : -

The school therapist students who have problems in studying.

A) Councils B) Counsels C) Consuls D) Consults

Choose the correct meaning of the phrase “to let the cat out of the bag”.
A) Set the cat free B) To clean out the bag
C) To let something take its own course D) To reveal a secret
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91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

NAlIWOW alBo aR® ?
A) @pdlioeman B) @ndcuoemi C) @oElauoessl

MIWMEB@D AlldLe0m @R
A) smoal B) ecomoal C) allewmoni

HO0 ag)M aleEwilen alopwagoEmE ?
A) @eaisdo B) cuoad C) @yomo

ofleoa®o agimaio allaidl® alo ag)eymye.

A) epawo B) almlawo C) alleiwmo
@06nIALo (IQUBEL6E: agMBdmac (Y™ eevoel.

A) Belles om0 B) ealoslaiooys
C) samao e21g) s D) #:0s38:0518

®RIDS] ag)m alBEBIN MAOMMOW alBo.

A) ®ymdno B) ®&ymeo C) somusl
82IBOOmPI® B — OMmEl + e,

A) emgpaen B) emaaem C) emmem
oeag,gbrnﬂm% 6aISOO® aR® ?

A) o — ol B) @<l — el
C) @oaum — @i D) eoems — el

2g)gROVImo ag)M alBo alldlea)ey® .

A) agerd + @pioo B) agem + oo
C) agapo + @vwico D) agemo + @p@ilao

®26% al0@IMAIM AWOW Qoo a@® ?

A). O @i5loBae o @GIwoo

B) @B 80600 afls'emonio Hwdl

C) o@moensy almflmesmiogo alyqydso QI0H]

D) @legoval amooie svosmyrm alodle-wosmie’
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D) modlaioemes

D) cvalmoal

D) @emiiao

D) @omoawo

D) momowo

D) emanem




